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Question Number : 1 Question Id : 60348912005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the Sociologists perspective of understanding an urban area?

1. Permanence

2. Social Heterogeneity
3. Anonymity

4. All of these
Options:
60348945535. 1
60348945536. 2
60348945537. 3

60348945538. 4

Question Number : 2 Question Id : 60348912006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The structure and behavior of Urban Ecosystem is determined by the various processes
1. Economic selection

2. Political selection

3. Social selection
4 All of these

Options :



60348945539. 1
60348945540. 2
60348945541. 3

60348945542. 4

Question Number : 3 Question Id : 60348912007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Secondary activities include

1. Social services
2. Administration
3. Hospitality

4. None of these
Options :
60348945543. 1
60348945544, 2
60348945545, 3

60348945546. 4

Question Number : 4 Question Id : 60348912008 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which theory classified the city into 5 zones, the Central Business District (CBD), the Zone of
transition, Zone of independent workers’ homes, Zone of better residences, Commuter’s zone

1. Concentric Zone Theory
2. Multiple Nuclei theory
3. Least cost theory

4. None of these
Options :
60348945547. 1

60348945548. 2



60348945549. 3
60348945550. 4

Question Number : 5 Question Id : 60348912009 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a land use map, Transportation land use is depicted as

1. Blue

2. Yellow

3. Green

4. Black or grey
Options :
60348945551. 1
60348945552. 2
60348945553. 3

60348945554. 4

Question Number : 6 Question Id : 60348912010 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Spatial dimensions of urbanization relate to

1. Urban hierarchy
2. Urban primacy
3. Urban Sprawl

4. All of these
Options :
60348945555. 1
60348945556. 2
60348945557. 3

60348945558. 4



Question Number : 7 Question Id : 60348912011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which type of urbanization is not prevalent in the countries of the world

1. Uneven urbanization
2. Even urbanization

3. Over urbanization

4. Under urbanization
Options :
60348945559. 1
60348945560. 2
60348945561. 3

60348945562. 4

Question Number : 8 Question Id : 60348912012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The adverse social implications of urbanizations include

1. Exclusion
2. Inequality
3. Crime

4. All of these

Options :

60348945563. 1
60348945564. 2
60348945565. 3

60348945566. 4

Question Number : 9 Question Id : 60348912013 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the statements is True for a Census Town

1. Minimum Population of 5000

2. Population density of at least 400 persons per square kilometer

3. At least 75 percent of male working population engaged in non-agricultural pursuits.

4. A minimum population of 5000 people, at least 75 percent of male working population
engaged in non-agricultural pursuits and a density of population of at least 400 persons per
square kilometer.

Options :

60348945567. 1
60348945568. 2
60348945569. 3
60348945570. 4

Question Number : 10 Question Id : 60348912014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mature reserves consists of

1. Agricultural land
2. Industrial land

3. Fallow land

4. None of the above

Options :

60348945571. 1
60348945572. 2
60348945573. 3

60348945574. 4

Question Number : 11 Question Id : 60348912015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the correct option.

Statement |: Planning region is a contiguous area with socio-cultural homogeneity
Statement II: Formal regions is a contiguous area with geo physical, economic criteria or
social/political criteria

1. Statement | is correct

2. Statement Il is incorrect

3. Statement | is correct but Statement Il is incorrect
4. Both statements are correct

Options :

60348945575. 1
60348945576. 2
60348945577. 3

60348945578. 4

Question Number : 12 Question Id : 60348912016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A Region associated with grass-root planning is a

1. Macro
2. Meso
3. Micro
4. Micro-Minor

Options :

60348945579. 1
60348945580. 2
60348945581. 3
60348945582. 4

Question Number : 13 Question Id : 60348912017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Delineation of a city region depends on

1. Social development

2. Economic development

3. Environmental Conservation
4, All of these

Options :

60348945583. 1
60348945584. 2
60348945585. 3
60348945586. 4

Question Number : 14 Question Id : 60348912018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The settlements marked the transition from exploiting livelihood (hunting and gathering)
to production livelihoods (breeding and cultivating i.e. agriculture).

1. Palaeolithic
2. Neolithic
3. Mesolithic
4. Nomadic

Options :

60348945587. 1
60348945588. 2
60348945589. 3

60348945590. 4

Question Number : 15 Question Id : 60348912019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which civilization had a strong centralized government?

1. Mesopotamia

2. Egypt
3. Indus Valley
4. China

Options :

60348945591. 1
60348945592. 2
60348945593. 3

60348945594. 4

Question Number : 16 Question Id : 60348912020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How many parts was Miletus, the city of Greek civilization divided into?

1.2

23

3.4

4.5

Options :
60348945595. 1
60348945596. 2
60348945597. 3

60348945598. 4

Question Number : 17 Question Id : 60348912021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In which civilization, Gournia was a major settlement.

1. Minoan Civilization

2. Mycenaean Civilization
3. Mauryan Empire

4. Gupta Empire

Options :

60348945599. 1
60348945600. 2
60348945601. 3

60348945602. 4

Question Number : 18 Question Id : 60348912022 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The three bodies of government in Roman Empire are

1. The Senate, Consuls, Assemblies

2. King, Prime minister and council of ministers
3. King, Priest and Consuls

4. Priest, Prime Minister and Assembly

Options :

60348945603. 1
60348945604. 2
60348945605. 3

60348945606. 4

Question Number : 19 Question Id : 60348912023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which was the most common meeting space in the cities of medieval Europe?

1. Forum

2. Agora

3. Plaza

4. Market Square

Options :

60348945607. 1
60348945608. 2
603489456009. 3

60348945610. 4

Question Number : 20 Question Id : 60348912024 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Choose the correct option.

Statement |: The Bishop's seat was the principal link between Roman and Medieval Cities.
Statement ll: The Palatinate (Pfalz) was principal link between Roman and Medieval Cities.

1. Statement | is correct

2. Statement Il is correct

3. Statement | is incorrect and Statement Il is correct
4. Both statements are incorrect

Options :

60348945611. 1
60348945612. 2
60348945613. 3

60348945614. 4

Question Number : 21 Question Id : 60348912025 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which was the capital city of the Islamic Renaissance period?

1. Mecca
2. Medina
3. Jerusalem
4. Baghdad

Options :

60348945615. 1
60348945616. 2
60348945617. 3

60348945618. 4

Question Number : 22 Question Id : 60348912026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Islamic city was divided into parts.

1.2

23

3.4

4.5

Options :
60348945619. 1
60348945620. 2
60348945621. 3

60348945622. 4

Question Number : 23 Question Id : 60348912027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



How many cities did Delhi comprise of during 1400 BC to 1700 AD?

1.3
2 4
3.6
4.7

Options :

60348945623. 1
60348945624. 2
60348945625. 3

60348945626. 4

Question Number : 24 Question Id : 60348912028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

____empire replaced the Byzantine empire in 1300 AD.

1. Roman

2. Ottoman

3. Mughal

4, Aztec
Options :
60348945627. 1
60348945628. 2
60348945629. 3

60348945630. 4

Question Number : 25 Question Id : 60348912029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Leonardo Da Vinci was associated with which period?

1. Renaissance
2. Baroque

3. Neo classical
4. None of these

Options :

60348945631. 1
60348945632. 2
60348945633. 3
60348945634. 4

Question Number : 26 Question Id : 60348912030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Focus of design in Mayan settlements was on

1. Large open public plazas
2. Citadel

3. Religious buildings

4. None of these

Options :

60348945635. 1
60348945636. 2
60348945637. 3

60348945638. 4

Question Number : 27 Question Id : 60348912031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the correct option.
Statement I: The Aztecs had a powerful and highly disciplined military force

Statement II: The Aztecs were not competent in military affairs

1. Statement | is correct

2. Statement Il is correct

3. Both statements are incorrect
4. Both statements are correct

Options :

60348945639. 1
60348945640. 2
60348945641. 3

60348945642. 4

Question Number : 28 Question Id : 60348912032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which city's layout was dominated by a central avenue called 'Street of the Dead'?

1. Tenochtitlan
2. Mexico

3. Jericho

4. Cuzco
Options :
60348945643. 1
60348945644, 2
60348945645. 3

60348945646. 4

Question Number : 29 Question Id : 60348912033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7

Which are the two distinct areas of the settlement of Machu Pichu

1. A central complex and a central square
2. A central square and series of terraces
3. A central complex and series of terraces
4. None of three

Options :

60348945647. 1
60348945648. 2
60348945649. 3
60348945650. 4

Question Number : 30 Question Id : 60348912034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

account are made for the servicing of municipal bonds with earmarked revenue as well as
for usage in defined projects or a set of projects would protect investors’ interest.

1. Escrow

2. Demat

3. Savings

4, Current
Options :
60348945651. 1
60348945652. 2
60348945653. 3

60348945654. 4

Question Number : 31 Question Id : 60348912035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Urban renewal process is a combination of

1. Redevelopment
2. Conservation

3. Rehabilitation
4, All of these

Options :

60348945655. 1
60348945656. 2
60348945657. 3
60348945658. 4

Question Number : 32 Question Id : 60348912036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The “Four Taps” strategy has been adopted by which country.

1. Myanmar
2. Bhutan

3. Singapore
4. Bangladesh

Options :

60348945659. 1
60348945660. 2
60348945661. 3

60348945662. 4

Question Number : 33 Question Id : 60348912037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The major causes of Air Pollution in cities are

1. Transportation
2. Construction
3. Industries

4, All of these

Options :

60348945663. 1
60348945664. 2
60348945665. 3

60348945666. 4

Question Number : 34 Question Id : 60348912038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Development Control is the mechanism for development.

1. Regulating
2. Monitoring
3. Implementing
4. BEvaluating

Options :

60348945667. 1
60348945668. 2
60348945669. 3

60348945670. 4

Question Number : 35 Question Id : 60348912039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What are the Key parameters that are assessed from the infrastructure survey?

1. Capacity

2. Utilisation

3. Gap assessment
4, All of these

Options :

60348945671. 1
60348945672. 2
60348945673. 3
60348945674. 4

Question Number : 36 Question Id : 60348912040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Information and Data can be divided into two types. Choose the Correct option.

1. Secondary and Tertiary
2. Primary and Tertiary

3. Primary and Secondary
4. None of these

Options :

60348945675. 1
60348945676. 2
60348945677. 3

60348945678. 4

Question Number : 37 Question Id : 60348912041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The scale of Local Area Plan is

1. 1:10000 — 1:20000
2. 1:5000 - 1:10000
3. 1:1000 - 1:5000

4. 1:500 — 1:1000
Options :
60348945679. 1
60348945680. 2
60348945681. 3

60348945682. 4

Question Number : 38 Question Id : 60348912042 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct option.

Statement |: A vision is a description of a realistic and credible desired future for a community
or organization.

Statement II: A goal is a statement that describes, usually in general terms, a desired future
condition.

Statement lIl: An aim is a general statement which provides shape and direction to the more
specific actions in a plan making process.

Statement IV: Objectives are stated in measurable targets set to achieve the goal.

1. Statements | and |l are incorrect
2. Statements |ll and IV are incorrect
3. All Statements are correct

4, All Statements are incorrect

Options :

60348945683. 1
60348945684. 2
60348945685. 3

60348945686. 4

Question Number : 39 Question Id : 60348912043 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Digital India Mission 2015 aims to achieve digital of citizens.

1. Empowerment
2. Enlightenment
3. Access

4. None of these

Options :

60348945687. 1
60348945688. 2
60348945689. 3

60348945690. 4

Question Number : 40 Question Id : 60348912044 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct option.
Statement |: The National Environment Policy, 2006 states that Human Beings are at the
Centre of Sustainable Development Concerns

Statement II: The National Environment Policy, 2006 states that Natural Resources are at the
Centre of Sustainable Development Concerns

1. Statement | is correct

2. Statement Il is correct

3. Both statements are incorrect
4, Both statements are correct

Options :

60348945691. 1
60348945692. 2
60348945693. 3

60348945694. 4

Question Number : 41 Question Id : 60348912045 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which organization was set up vide The Energy Conservation Act, 20017

1. Indian Renewable Energy Federation
2. Tata Energy Research Institute

3. Bureau of Energy Efficiency (BEE)

4. None of these

Options :

60348945695. 1
60348945696. 2
60348945697. 3
60348945698. 4

Question Number : 42 Question Id : 60348912046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct option.

Statement I: A layout plan shall have at least two use premises (apart from Recreational,
utilities and transportation) and a minimum area of 5 Ha.

Statement II: A layout plan shall have at least two use premises (apart from Recreational,
utilities and transportation) and a minimum area of 1 Ha.

1. Statement | is incorrect

2. Statement Il is correct

3. Both statements are incorrect
4, Both statements are correct

Options :

60348945699. 1
60348945700. 2
60348945701. 3

60348945702. 4

Question Number : 43 Question Id : 60348912047 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Zone "O" as per the Delhi Master Plan signifies

1. Heritage Zone
2. Special Zone

3. River front Zone
4. None of these

Options :

60348945703. 1
60348945704. 2
60348945705. 3

60348945706. 4

Question Number : 44 Question Id : 60348912048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A master plan includes for the city.

1. Short term action planning
2. Medium term planning

3. Long term planning

4. None of these

Options :

60348945707. 1
60348945708. 2
60348945709. 3

60348945710. 4

Question Number : 45 Question Id : 60348912049 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What are the constituents of a region?

1. Networks and Built up area
2. Agricultural land

3. Natural Resources

4. All of these

Options :

60348945711. 1
60348945712. 2
60348945713.3

60348945714. 4

Question Number : 46 Question Id : 60348912050 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Counter-urbanization is the process whereby people move from

1. urban areas to rural areas
2. rural areas to urban areas
3. urban areas to urban areas
4, rural areas to rural areas

Options :

60348945715. 1
60348945716. 2
60348945717. 3

60348945718. 4

Question Number : 47 Question Id : 60348912051 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the correct option.

1. Statement I: New Towns are generally thought of as being of two types - independent and
satellite

2. Statement II: New Towns are generally thought of as being of two types - independent and
counter magnet

3. Statement Ill: New Towns are generally thought of as being of two types - Satellite and
counter magnet

4. Statement IV: New Towns are generally thought of as being of two types - independent and
peri urban

Options :

60348945719. 1

60348945720. 2

60348945721. 3

60348945722. 4

Question Number : 48 Question Id : 60348912052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which country, did the Low Carbon City movement start?

1. United States

2. China

3. United Kingdom
4. Canada

Options :

60348945723. 1
60348945724. 2
60348945725. 3

60348945726. 4

Question Number : 49 Question Id : 60348912053 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



How many components does Smart city concept have?

1.4
ariles
3.6
4.7

Options :

60348945727. 1
60348945728. 2
60348945729. 3
60348945730. 4

Question Number : 50 Question Id : 60348912054 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Sustainable Development Goals (SDGs), also known as the Global Goals are in
number.

1.10

2. 20

315

417

Options :
60348945731. 1
60348945732. 2
60348945733. 3

60348945734. 4



